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Reference 1D:(5225)

Answer:

Reference 1D:(4993)

Answer:

Reference 1D:(5480)

Answer:
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Choose the correct form of the noun for the given sentence:

Daily use of lemon prevents the of cholesterol in the blood.

A.accumulated
B.accumulate
C.accumulating

D.accumulation

D.accumulation

Iiar = ufgear fea=h fa= QeaeTei 6 UM dreraars YRard P, 231 faaxit 9
g, 3T faa=it 12 g, 421 fga=i 15 U 3for ammt. SR fan 9 dgedH
dTeH Y= &dd, o 101 feasft ot fasdt o araa?

A.33 UM

B.40 U

C.42 UM

D.45 U=

A.33 U



Reference 1D:(5226)

Answer:

Reference 1D:(5232)

Answer:

Reference 1D:(4988)

Answer:

Reference 1D:(5478)
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Choose the option that correctly spells the words to be filled in the given
sentence:

, students wait for their results.

A.Generaly , anxiously
B.Generally , anxiously
C.Genarlly , anxiously

D.Generilly , anxiousli

B.Generally , anxiously

‘PRESENT’ Xleared] 3eRit ford! e Uh HisUlt dhall SIS, Weha?

A.2520

B.2515

C.2510



D.2505

Answer: A.2520

Reference 1D:(5465) SR MOTHER @ LNSGDQ 3% Hahdaeg Pl old 3d a GRANDSON dT
HY hdae Hal Sad?

A.FQZMCRNP
B.FQZMCTNP
C.FQBMCRNM

D.FQZMCRNM

Answer: D.FQZMCRNM

Reference 1D:(5204) Choose the appropriate prepositional phrase for the given sentence:

The school is from our house.

A.without walking distance
B.by walking distance
C.within walking distance

D.at walking distance

Answer: C.within walking distance

Reference ID:(5469) SR UohT ®IRa Tt 55 fHHI/AM 3&8d @R, 6 dIHE I HRER HUAd 3R
fobelt 3re?
A.350 fit
B.330 ot
C.340 fodil
D.325 foit

Answer: B.330 o



Reference 1D:(4989) Choose the option that best punctuates the given sentence:

This is not very clever, is it the policeman said to the criminal

A.“This is not very clever, is it”, the policeman said to the criminal.
B.“This is not very clever, is it?” the policeman said to the criminal.
C.“This is not very clever,” is it. The policeman said to the criminal.

D.“This is not, very clever, is it”, the policeman said to the criminal.

Answer: B.“This is not very clever, is it?” the policeman said to the criminal.

Reference 1D:(5227) ‘STSSE IT Yearar 372 Fi .

AT

CE90
D. |0l

Answer: Adg

Reference 1D:(5212) 3T, 4T, o & Xeq WIAUD! HIOTTS! aruRdrd 2

A 3{Tc

B.fagtt
cC.wl

D.ga il
Answer: D.H?Fﬂ

Reference ID:(5470) T 150 Hiex did Yed 60 foHl/dr=d TeiH ¢1qd 30 YdheMed Udh Jd UR
Hd. 1 YAt didt fadt s

A.350 Hic
B.500 Hicx
C.600 TR
D.1000 Hiex

Answer: A.350 HicX



Reference 1D:(5206) Choose the most suitable conjunctions to complete the given sentence.

It is dishonest to copy unfair.

A.no sooner, but also
B.not only, but also
C.no sooner, than

D.not only, than

Answer: B.not only, but also

Reference 1D:(5479) 52 TRI 3] YhHYT ARfasd Ut Uh HTs dled d. Fasad H1s § ard

HIS fohaT IS U FHTH BRI 37?2
A.7/13
B.5/13
C.6/13

D.4/13

Answer: A.7/13

Reference 1D:(5205) Choose the most suitable conjunction to complete the given sentence.

The day is pleasant, rather cold.

A.because
B.but
C.about

D.for

Answer: B.but



Reference 1D:(5201)

Answer:

Reference 1D:(5458)

Answer:

Reference 1D:(5455)

Answer:

Reference 1D:(5223)

Answer:

Choose the option that best transforms the given sentence as directed:

Honesty is the best policy. (Question tag)

A.Honesty is the best policy, is it?
B.Is honesty the best policy?
C.The best policy is honesty, is not it?

D.Honesty is the best policy, isn't it?

D.Honesty is the best policy, isn't it?

AT dTe N3] favgd THIud STe Arauara Fordid:.

D . gH1foId g1 U]

B.dHIHRUl
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TRIGARIS’ BT od ARG AT HIVIT YBHRIATS HTg?

A. 3SR
B. IS Teg

C.quImard

D. 3N

D. 3N



Reference 1D:(4998) Choose appropriate articles for the given sentence:

Santa Claus or Father Christmas is legendary figure, originating in
Western Christian culture, who travels through sky on sledge
pulled by reindeers.

A.the, a, a
B.the, the, a
C.a, the, a

D.the, a, the

Answer: C.a, the, a

Reference ID:(5468)  diescial ST fag AfereT qul o

1,3,6,11,__ .29

A.15
B.13
C.20

D.18

Answer: D.18

Reference ID:(5475) &I uiaaed fagmafar 20% o1 fiesrat S1for at 30 oIt AT STell. ga=a
faemeatar 32% o1 fAresTel gur e fu 3ol gioare foam o 42
1 31 T, 3<iof Sivard Tadhar) wrer?

A.25%

B.30%

C.28%

D.22%

Answer: A.25%



Reference ID:(5474)  Re™ 7 393 ufd foar a1 e 150 fordl gt Wl deit. fae 10% T0I™ 50
fop¥ TTegTe fawht el THUI AR 12% %1 feauamre! fan fadt er/fadin
AN TegTel faghT HrTat?

A.7.91 3T
B.7.81 30
C.7.71 3

D.7.61 300

Answer: A.7.91 3T

Reference 1D:(5485) QI AT 3: 4 I TUNTRIG 3HTed 3101 FidT A91d d J1d =7 UMb R 10800

A.210
B.180
C.240

D.225

Answer: A.210

Reference ID:(5216)  UdbId 3fUTel BRY! d TRIS Xec THH U3 ST ATBT AHINID Weg
WA DI 3MTg 2

D.3RHAR

Answer: A.DTTcUA

Reference ID:(5218)  WTGilcUeh! & IUTT ReaTall ST TR ATal?

A STh HUT

B. 3Rl



C.3Hfed
D.3{f <

Answer: C.3Hfed

Reference 1D:(5459) ST T WG9 YHTRI IO HRaTd, Gl

A TDTIRIT T
B. oI %],
C.IRIad® K]
D.3URGR® a%q

Answer: B.qoTd! a¥q

Reference ID:(6000) Gl feoreaT FAEER, 9éld HTdhdl SIvTdr JHe?

Answer: [ ‘

Reference 1D:(5460) SAHYH IWTdT HISUIAT Sitard ATd Hi.

Afamr



Answer: D.Hrqaﬁ%m

Reference ID:(5467)  diescial ST fag AfereT qul o

0,7, 26,63,

A.124
B.125
C.126

D.120

Answer: A.124

Reference 1D:(5453) SR e T SReT TERTaT fHesd?

A GTHTaS 3RaTd
B.3T0I WIS
C.H=3d 3ard

D.IRTS Wrat

Answer: A GTHTA 3T

Reference ID:(5462) U], HI7 3101 I i SIS0 3o d. UL 10T Hi= 99 JRET 3MTg M0 i<
T SRIST I 97T UTd U 8. i auiqd! U ag S aara]
fdwe gid. W IR IR T g 99 B 3RA?

A.8 aY
B.10 9Y
c.7ay
D.12 a4

Answer: B.10 G'Ef



Reference ID:(5220)  Wciiaideh! HIUTT Req Tl ST eg AT o117 2

A3
B .IdATHY
C.3fufg

D.3Hd

Answer: D.3Hd

Reference 1D:(5246) Wl Sfear gy 19 2019 AY SRS dhedl gl

A5t 19 BAUH WIH Peciad, gol.
B.fag! fordhe SRR #aM, AR,

C IR TEIHHTS Tod STSR Wew, s
D ZfeRT widh W Staw, AR,

Answer: A4t fRra Bl F?ﬁ'c;ﬂ DI, g@[

Reference 1D:(5221) ‘3T I 37 HIvrar 3mg?

AdISC, gF
B.fovg, g
C.3dc, e
D.SH!, THela

Answer: B.|36§, _5%'[

Reference 1D:(5240) TG Y (JUH) YATaRUT=AT 10T TRYM SRATIRIET SHEaTarHed el Hisdl
AT GAaTad Uy HedTdes, AeeR 2018 T TUed] Uar
TSt faar?

AT 7T
B.3[H R

C.UR® dicgH
D.HIRY

A~

Answer: C.Q|§$ @I@T{



Reference 1D:(5224) FIATR TR <O T TSRIRIRTET 31 -

AR B0,

B.R fawu.

C. g3 T U,
D. g Ueg+ S,

Answer: D. g Ueg+ S,

Reference ID:(5451)  HERIY lbal bR HUIH, 2015 o DI HerH TCATAT HfADBR
AT SYSHT HRa?

A.23
B.24
C.25

D.26

Answer: D.26

Reference ID:(5211) Choose the option that best expresses the meaning of the highlighted
idiom/phrase:

My not getting a job there proved to be a blessing in disguise.

A.a disguised appearance of pure evil
B.a disappointment to one’s morals and ideals
C.something good that isn’t recognized at first

D.a disaster that disguised itself as a bad thing

Answer: C.something good that isn’t recognized at first

Reference 1D:(5222) B d eH 8 BT Yeard THHI Wsg HTRd?

A.BTH
B.dHT
c.gfaar



Answer: A.dhddh

Reference 1D:(5208) Choose the correct form of verb that is in agreement with the subject:
Who left the taps ?
A.open
B.on

C.turned open

D.turned on

Answer: D.turned on

Reference ID:(5250)  HERIY AbydT SHIUBR HAFATH 2015 =T HIVIAT HerHISIAd g HebT-
M AlpUdT TYBR U HRUGTET 3fo! fhdt dramaeiye) e drea
ST d -G BRI §a?

A5
B.6
C7

D.8

Answer: A5

Reference 1D:(5464) TR Plal.
98,73,87,97,85&82

A.87
B.75
C.98

D.84

Answer: A.87

Reference 1D:(5231) T QM SIRITE 3MTa.’ IT JIFITd ! e,



Answer:

Reference 1D:(5472)

Answer:

Reference 1D:(5233)

Answer:

Reference 1D:(5476)

Answer:

SITAA U H1H 12 drag e gof Rl 3for a1e o 1 18 ariige guf S,
T HTH = HRal M1 4 TRIHT TTBT6! HIH B ANl R ATy ae
BIsudd ford! AT &TH gUf glad?

A8 dig
B.8.5 d¥
C.8.8dMN

D.9.5 di¥d

C.8.8d¥

e ST BT MUl 3R, SIURRAT 3Meih1Rep Wsgrar 31 B 2

ABRIR
B.ddls

C.Hegg!
DG

C.Hagsl

T gHHGR fdsh! fhHdIaR 30% e Gall. AR M T faHcliar SHTuRdl 20%
e faah. go fawt frndiar fordt e duara sefte

A.44%

B.50%

C.56%

D.60%

A.44%



Reference 1D:(5229) Tl oz wTeal. 1 IS Sal e,

Al

B.3¥TH

D3I Bl

Answer: A.T‘ﬁ

Reference ID:(5239)  WAAUD! HIUId TS I fohaT Ui UfaaTgite! U ATgl?

AT
B.¥%
c.dR

D.3(Hg

Answer: D.3H¢

Reference 1D:(4987) Choose the option that has all words spelt correctly:

A.librery , dictionary , necessary
B.library , dictionary , necesary
C.library , dictioniary , necessary

D.library , dictionary , necessary

Answer: D.library , dictionary , necessary

Reference 1D:(5219) ‘HIRAd HeaT (A TaTer gear a1 Wl o1 -

A BRATT O] ST SAHTE! Saval Qe 0T,

B.H 3Tl THBR HUl,
C.ITard gds! fueu,

D T8l Mt Hfd duqu.

Answer: A.BRAA! O] STd SHATe] SaRa QYd gl



Reference 1D:(5209)

Answer:

Reference 1D:(5249)

Answer:

Reference 1D:(4990)

Answer:

Reference 1D:(5482)

Transform the following sentences as directed:
| know the tall man. (change into a complex sentence)

A.l know the man he is tall.
B.l know the man who is tall.
C.The tall man | know him.

D.The tall man | know.

B.l know the man who is tall.

(M3 Tl ¥R SiffaH, 2005 3idifd, o A sif¥em=aran
SR SR fdblt €8 el SIS Wdhdi?

A.10.000 3T

B.25.000 3T

C.15,000 3T

D.5,000 3T

B.25.000 3T

Out of the following options, choose the sentence that is punctuated
correctly.

A.And, to my great surprise, | found myself in Geneva
B.“And, to my great surprise! | found myself in Geneva.”
C.“And, to my great surprise, | found myself in Geneva.”

D.“And, to my great surprise, | found myself, in Geneva.”

C.“And, to my great surprise, | found myself in Geneva.”

forT 311for o1 o1 Ui s UTe e U f3apoft 33am 3ired. T IR 6
forex ararett Snfor w1 Sididhe aaat S1fOr 71 STURdT 8 Hiex araren. forr e
qdars 4 H TTaIeh. 7 < Saide aesdl o1 1 J Arerd!, I8l Sididhs dadl
30T 4 Hiex AT 0T 791 g8 STdibs 1 4T dreta.

2T 1 Tor U fohddt R aiTe SHfvr shiura fierimed 3iig?




A5 Hl, IWR-ufzy
B.10 Ht, 3R

C.8 Hi, aférurgd
D.10 #i, f&ur-uizm

Answer: D.10 Iﬁ, <fémr-ufgm

Reference ID:(5471)  Ufd Ul ffAe™ed 30 Xeq ClRU e Xdbal. 10.5 e i fard! Wsg ergy
B QPHal?

A.315
B.316

C.320

D.305

Answer: A.315

Reference ID:(5241)  AINIR&IHT dufdddd Uead QT T4 AroiiaTed A<l RIUITITa!
HERIYAEAM G0N G e,
A HETSUSGR
B.TgTaTHTf
C.Hg™dl
D.HERR&R

Answer: B.ﬂ%ﬁﬂ“—ﬂiﬁ

Reference 1D:(5210) Choose the correct form of tense for the given sentence:

Demining the action of removing landmines, booby traps and
unexploded bombs from an area so that once they soldiers can pass
over the area safely.

A.was, had removed
B.is, are removed
C.has been, has been removing

D.is being, are being removed

Answer: B.is, are removed



Reference ID:(5456)  WERISIIIA Y&IAUh! HIVIT RIS ARG AT ST aRET {3101 TUH
=l Tl 3182
A.TICd 3 gfean
B.fRaIRg i 3fg o 3! 3acy 3t Gasal
C. AU RIarsil AR T¥gHUged

D.§1% X fthee

Answer: B.f&Fe g Mid® 313 3¢ SH! Iuacd 3 Jegd

Reference 1D:(5243) : 1 SiferRdlh QUURd 31Ul-I UG 9T ST aTiR
B

A%d
B.gfoS

cod
D 3Tuic

Answer: Agd

Reference 1D:(5214) ECdEISISIEICC!

A3, TTERIS — 7]

B.9R, HgI — Al

C. 391, R HeT - TorTd]

D.WRTd, WIR — $HTs]

Answer: D.URTd, Uk — $I:|3|

Reference 1D:(5203) Choose the appropriate preposition to complete the given sentence:

What are you thinking ?

A.off
B.on

C.about



D.into

Answer: C.about

Reference 1D:(5000) Select the suitable determiner from the given options to complete the given
sentence:

There is milk left in the jug for the cat.

A.any
B.some
C.much

D.plenty

Answer: B.some

Reference 1D:(4997) Choose appropriate articles for the given sentence:

Like _ open-air museum, Burges is ___ perfectly preserved ancient
metropolis.

A.the, an
B.an, the
C.the, the

D.an, a

Answer: D.an, a

Reference 1D:(5461) ST Ah e HISdh S5l ST dag] AT ST Sl S, Siuldh e

A AT SaeHTTS! ATl gTaard givdTd Had oid
B.SH! THTUNT A% S aTRd Ssd

C.d AT Usde dYHHT Ulglg Xdhd

D.Sdd B8R Usd

Answer: A. i SaAHIT3! It gTadnd 81V Had gid



Reference 1D:(4994) Choose the correct form of the noun for the given sentence:

It is interesting that the concept of zero has had such a great impact on the
progress of

A.humanness
B.mankind
C.manliness

D.manhood

Answer: B.mankind

Reference 1D:(4995) Choose the option with the appropriate suffix to complete the given
sentence:

The harmon____ singing of the two sisters was very melodious as well as
enchanting and everyone enjoyed it.

A.-ious
C.-ic
D.-ously

Answer: A.-ious

Reference ID:(5230)  ‘OT0ff USOY 1 ATavaRT= 37 -

A.TTOgH o,
B. Q10T Tig.

C.UI%:d TS,
D.TEIC! 7MY PHebe U,

Answer: D.Q’@HQI 1ﬂ1§[ Pphd SO,

Reference 1D:(5457) YUl <igdT AISTUaTITa WTeiieid! & 0Tl JTeTdT AR Bal SiTdl?

A JEITH



C.uAAHR

D .3Ad P IY

Answer: A TTNITH

Reference ID:(5245) IR YCRIMENT HiAdT A3d AT Wielerier Hiore a¥f 3o RebRT fasian
T BIAT?

A.20M
B.2012
C.2017

D.2014

Answer: B.2012

Reference 1D:(4996) Choose the option with the appropriate suffix to complete the given
sentence:

The evolu of man began with the origin of monkeys.

A.-ve, -hood
B.-ness, -liness
C.-tion, -kind

D.-tionary, -age

Answer: C.-tion, -kind

Reference 1D:(5234) A A 994, 1 areTd HH el

AdTId

B.%d
C.guA
D. g9 add

Answer: B.Eﬁ



Reference 1D:(5207)

Answer:

Reference 1D:(5236)

Answer:

Reference ID:(5477)

Answer:

Reference 1D:(4991)

Choose the correct form of expression to complete the given sentence:

is a word that cannot compare to

A.Brave, weak
B.Braveness, weakness
C.Bravery, weakness

D.Bravado, weakness

C.Bravery, weakness

JrSTA GATaT M °Tael.’ T AT Bl s,

AafgaiAt

B.HdTal
C.TMmesd

D.®Tda

RG]

Uoh] ORI R BRI dg 3Med. 2 dMd, 3 (e, 10 Uiey, 4 g afor
3 PTes 3Tgd. =1 UTgdl IO IR  TThdl IFHYH g dled SIdld. GRS

gafd de™ I BT 3TR?

A10

B.8

C.6

D.5

C.6

Choose the correct form of adjective for the given sentence:

Vaccination is the most way to prevent infection.



A.best
B.good
C.better

D.effective

Answer: D.effective

Reference ID:(5484) G- SATHE 26 d 3R 38 MU Ueh AT gORIAT fdwe 3iTg. R AT GH

A.26
B.39
C.65

D.52

Answer: D.52

Reference 1D:(5228) HR ATe] T S HRTQr a7 ol o -

AFTRI BIUTTe dcs el YT AT SaTd Saraul.

B. S &gl 8T fdhdl aTge TP dell ATal Tl I8 Ha =¥,
C.HA1d Hidt 3ol

D.§Gls 4RO,

Answer: B.SUT ®Te! 61 fdhdT aTge MY ol ATel Ta fR1ére W 3.

Reference 1D:(5235) TSI Gepe MYL.’ T qITele [ohaTug e,

AT

B.H$<
C.3nyar

BRININ]

Answer: C.XNYya



Reference 1D:(4999)

Answer:

Reference 1D:(4992)

Answer:

Reference 1D:(5244)

Answer:

Reference 1D:(5202)

Choose the correct form of verb for the given sentence:

She on the phone when the door bell rang.

A.is speaking
B.speaks
C.spoke

D.was speaking

D.was speaking

Choose the correct form of adjective for the given sentence:

The kauri tree is a/an forest tree native to New Zealand.

A.important
B.massive
C.dynamic

D.bigger

B.massive

'S-UYTETAT § AP YT fa3 e, Seiari-ad ST Hifgdl o Harer,
URd R TiATgR fab R deidl Ieder 3R,

A TSR IaRITIT
B.HMd 14 AT
c . Agfife Tare= mifgdt

D.WRId ITRITIH

A ISR IIRITTH

Choose the correct form of modal auxiliary verb for the given sentence:

The old man to give alms to the poor every day.

A.shall
B.must

C.used



Answer:

Reference 1D:(5215)

Answer:

Reference 1D:(5237)

Answer:

Reference 1D:(5466)

Answer:

Reference 1D:(5248)

D.could

C.used

YR fhetr a7 JTRRIRTET 1Y -

A SUTH HISUl.

B.vl ftheul,

C.T¥ urgH, % g gIul.
D ATt fEesul.

C.TY urgH, % g glul.

3ifeiere HERIFTAT 05 ficariHed 819y SHisdi=T Il Yo (SIsM) WU
Aigad 7o, WU S fofeg 1 T FHIAE ATId:

A Rieg
B.UTeTER
C TS
D 11

DA%

66, 36, 18, 9, 12, 2
A.18
B.9

C.3

D.12

B.9

Tiiel fresauard famdt HRURT oft U Srearear  faawi s1d oH
A1t BRI, A 315t fRhTdTd HIeUl IS 3R,

A.90



B.60
C.30

D.15

Answer: C.30

Reference 1D:(5247) BT AR b Hiddl HeToH did 51 aarEe fFeq e, i
T e SbIgH! UTHR GRIBR fSidar gidl.

A.2011

B.2012

C.2013

D.2014

Answer: A.2011

Reference ID:(5217) UM Xecidl gebian Gaig e,

AZg, HIddg, Uddh
B.IAY, B[4, AR

C.HHdI, gi-dl, dfdT

D.BSt, A1d, aR

Answer: C.HHdT, ai-dT, Al

Reference ID:(5463)  TUIRT JIGAUET 6 T W8T 3MTe. SR ATedl 4T TUNR 3HIhH 3:5 3R R
UM 99 BT Sd?

A.15 a4
B.12 qY
c.9ay
D.6 qY

Answer: C.9 GL

Reference 1D:(5213) APa, TR, AP & Xeq HIUAT HTHIH FRISIT =6 SATal 3Ted?



Answer:

Reference 1D:(5238)

Answer:

Reference 1D:(5452)

Answer:

Reference 1D:(5481)

Answer:

e HATTATGR 2016-17 Hed fades geeim anfor snemfdres g
TifgAsiaiid (PRASAD) fasIITa! SRT Wil THTART Hal TdT 3778,
HERIPMYT § UhHd e 35

ATTHR

B. AR

CID

D.g&wTR

A TTHYR

3T BT 99 WY SIUGTS ATHY dededr 20 A 3t erIqH 18R v,
rgdd Ui 15 ffAe ArTdTd. O IH13t 0.45 ATSIdT WK aaR Uigha.
Y €IS o Frar=a: favell el ORI dTe) USd 3rd?

A THIBT 9.45
B.H1AT 9.50
C. P31 9.55
D3 PIUTG! ATRT

B.gbhTAt 9.50



Reference 1D:(5483)

Answer:

Reference 1D:(5454)

Answer:

Reference 1D:(5242)

Answer:

Reference 1D:(5473)

SISt g1 gare e el STdieg UrddT 3iTg, 30T Uiex g1 SoTedT SIbIURHA
SRTAT 3T, SR Ulex 1 Sloidbs ot QI TR, R <l SISAT SIBTUR
eIl IR Id 3Te. 3N aed fahdt goi 3Tgd?

A.21
B.22
C.23

D.24

D.24

YR SfIgrHed Ufgedial s HgR TRAdU T3 HEIHINT Araar
3 IeH DI Skl <ATATERT §eil?

AT THETHL

B.Sl. o, URStaret

C. = I

D.4t. S, fadA

C. it a4

Hesned ST dhald Sfedl SIS 9ie 2018 § “YRd YA
AT
B.g.TW.

C.WI
D IRM™T

B.Z.T4.

IdIH Uh 9% 460 ST fadhell SO AT 15% T fHesTel. 20% I
Presquarardt facht ford 3rdl:

A.483 T
B.480 ¥UU
C.498 &qU
D.485 4



Answer: B.480 U



